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(BFEAETFE)—T) BHHAKE 7/31.8/1 (BHE7)—F t%K:SPCCa=7B. ILATTC. KIEBAENHST

AY—4 a b c | d Bs IEAL B—4 a b ¢ | d Bs lER
a BigIITA 3-0 3-0 4 1 a BII KB 30 30 3-1| 6 1
b iU 5JC 0-3 1-3 2 | 3 b ®igV77B 0-3 3-2 32 5 | 2
¢ SPCYa=7C 0-3 | 3-1 3 2 c BREFR 0-3 2-3 -3 3 | 4
d KFES1Z7 1-3 2-3 | 3-1 4 3

cy—45 a b c | d B IEAL DY—4 a b ¢ | d Bs IER
a DKIFAEKX ST 0-3 30 3-0 5 2 a OIS TA 0-3 2-3/30 4 3
b SPCZa1=7B 3-0 30 30| 6 1 b ILATTC 3-0 30 30 6 1
c KEHRRD 0-3| 0-3 -1 4 | 3 ¢ SPCYa=TFA 3-2|0-3 30 5 | 2
d 09578 0-3|0-3 | 1-3 3 4 d BKRIZTIr 0-3 0-3 0-3 3 | 4

(BFEFIERY—T)

12y —4 al | bl ¢l | dl B | IS 2fa)—45 a2 | b2 | c2 d2 BiE JEfL
al BigIITA 2-3/3-0/3-1| 5 2 a2 SPCUa=FA 0-3/0-3 2.3 3 4
b1 B KA 3-2 30 2-3| 5 1 b2 ®iEV77B 3-0 1-3 2-3 4 | 3
cl1 SPC2=7B 0-3| 0-3 32 4 3 c2 KIEM\HYST | 3-0 31 3-1| 6 1
d1 lWWATTC 1-3 | 3-2 | 2-3 4 4 d2 SPCYa=FA 3-2 3-2 1-3 5 2

3fu)—5 a3 | b3  c3  d3 M= JEf AfLy—5 b4 c4 | d4 B | B
a3 ®igv77C 0-3 1-3 0-3 3 4 b4 BREESR 3-2 | 3-1 4 | 1
b3 KFZEI1=7F 3-0 3-1/3-2| 6 1 c4 WiEY5TB 2-3 3-1 3 | 2
c3 KFEHRRD 3-11-3 0-3 4 3 d4 ERR VST Jr 1-3 | 1-3 2 |3
d3 U977 A 3-0 2-3 3-0 5 | 2
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(XFEAEFE)—T) HEAAKE 7/31.8/1(BE7)—7F) KR :SPCP1=T7A . BEARD BRO1=7F

DY—%4 a b c b = NERL B—4 a b ¢ | d Bs lER
a BigIITA 30 3030 6 1 a lUATTC 3-2 3-1 3-1 6 | 1
b KFEMRRDA 0-3 3-2 2-3 4 | 3 b ®iEV77B 2-3 30 3-0 5 | 2
c U578 0-3| 2-3 -1 4 2 ¢ SPCY21=7B 1-3 | 0-3 0-3 3 4
dHKRIZTIr 0-3|3-2 1-3 4 | 4 d 8fMEIST 1-3  0-3 3-0 4 | 3
cy—45 a b c B3 s | NEfL AY—%4 a b ¢ | d e EfL NEfL
a SPCPa=TA 3-1/30 30| 6 1 a OIS TA 0-3/31/30 30 7 2
bR A=T 1-3 3-2 30 5 2 | |bEBERRLD 3-0 3-2 3030 8 1
c BEYTTIr 0-3 2-3 3-1 4 | 3 ||dBiIKZB 1-3 | 2-3 3-1 30 6 | 3
d KFEMRRDA 0-3 0-3 1-3 3 4 | |dSPc¥a=7FC 0-3 0-3|1-3 -1 5 4
d ®igyoJC 0-3 0-3| 0-3 1-3 4 | 5

(ZFEFIERLY—T)

12y —4 al | bl ¢l | dl B | IS 2fa)—45 a2 | b2 | c2 d2 BiE JEfL
al FigUIIA 30 3-0 30| 6 1 a2 059578 1-3 2-3 1-3 3 | 4
b1 lUATTC 0-3 3-1/31, 5 | 2 b2 Y778 3-1 -3 3-1 5 | 2
cl SPCYa1=7A 0-3 1-3 30 4 | 3 c2 RS A=T 3-2  3-1 2-3 5 | 1
di ARERARLD 0-3 1-3 0-3 3 4 d2 WiEI5TA 3-11-3| 3-2 5 | 3
3fu)—5 a3 | b3 c3 | d3 Brm|JERL AfLy—5 a4 | b4 | c4 d4 BrE JELL
a3 KFEMRRDA 1-3 1-3/2-3| 3 4 ad BRRY5T JIr 2-3/3-1/3-1 5
b3 BHEIST 3-1 3-1/31 6 | 1 b4 SPCY21=7B 3-2 3-0
c3 BEITTIr 3-1 1-3 3-2 5 | 2 c4 KEHRARLB 1-3 | 0-3 0-3 3 | 4
d3 B KB 3-2 1-3 2-3 4 | 3 d4 SPCYa=7C 1-3 3-0




